R I2FERY- P A e ERTRY HE
_ B FTRELI_ HE #m4-]

— . EyE 12. (
1. ¢ ) —1A42 MI—{ETFE=CAvfE 2
(A) (x+1)(x—1)=0 (B) (1—x)(2x+1)=0
(C)—(x+1)(x+4)=0 (D)2(x+1)>=0

2 () EHFER(Gx - 22=196 « FILTTHEHY 13, (
AT 2
Aafrg  (B) 47T

©4FI-3 () -4F1-3 4. (

3. () #FHa b EHEREXF5)? =121 1yfE
Ha>b: fAla—b=7? 15. (
(A)10 (B)—10 (C)22 (D)—22

4. () EIREA(x+1)*—25=0 - AT
FRE Ryfm] 2 16. (
(AAF16  (B)—4716
(C)4f1—6 (D)—4F1—-6
17. (

5. () & 3EHEA x> +kx—51=0 1 -
Al k= ?
(A)20 (B)—20 (C)14 (D)—14

6. () &I 3(x—5)*=432 > AT
FAE Ryfm] 2
(A7 RI117  (B)—7 117
(C)7F1—17 (D)—7 F1—17

18. (

7. () Fa-b EHEA(X+2)2—14=50 19. (
fi# > Ha>b> Hla—b=7?
(A4 (B)8 (C)12 (D)16

8. () ExP+e6x+al=(x+a) Hla=?
(A3 (B)6 (C)9 (D)—3 2. (

9. ¢ ) MIfEAZEZ® VR ?
(A)X*+6x+9 (B)4x?—4x+1
(C)9x*—24x+16 (D)3x>*—18x+9

10. ¢ ) Kr(x—4)(2x+3)=6 FehiLiEE - A5 21. (
A= ?
(A)2x2—5x—18=0 (B)2x2—11x—18=0
(C)2x2—5x+6=0 (D)2x2—11x—6=0

22. (
1. ¢ ) X =012/ ?
(A)O(ER) (B)3(EMR) (C)£3 (D)o #13

~4-2~4-3~5-1

) TFHIE—(E 528 3x° +x—52=0 74
FRE]HfE 2
(A)2x2+7x+6=0 (B)x>+2=3x
C)x—3P=1  (D)(Bx—5)(x+2)=42

) 5x2=—5x > HIl x AYfE By faf ?
(A5 —5 (B)la—1
(C)o=—1 (D)0=k 1

) = Xx2+8x=0> Hx=?
(A)—8E 0 (B)8E0
C4HO (D)—450

) MEIAE A R R (x— 1) (x—2) =12
e 2
(A1 (B)2 (C)—2 (D)4

) 2 & TAI—{E 7 2 =CATHR 2
(A) x*=—2x (B)x*+x—2=0 (C)2x*—16
=0 (D)3x*—2=5x

) THIER#E R 23 +3x+1=x2 — 1 25
B% o (IEBAiasE A ghER ?
(AR T (2x+ D) (x+ 1) = (x+1)(x—1)
(BEZ x+1E 2x+1=x—1
(COFHEE 2x—x=—1-1
(D){Lff1RtE x=—2

) NHIE— (& 7 iR = 2
(A)—4x*=0 (B)X*—3x+2=0
(C)2x*+5=0 (D)x*>+8x=—16

) 0 A& NHIME T2 AT fAE 2
(A)—2x*=0
(B)3x*+4x=0
(C)3x?—5x+2=x2—5x—2
(D)3(x*—1)+5=—7x+2

) % axb=0 - HIFERH a ~ b Ry Hgm ]
FAIERE ?
(A)E a#0K;f»b—E R0
(B)&E a=0HF > b —EA R 0
(Ca b 2=/ —{EHE R 0
(D)a ~ b HLL#D A O

) I (2x+3)(3x—1) =0 Wi i
2%

N-2 @Bt ) (D)

) NHIHIE R X(2x+3) +X(x—2) =0 1}

i 2

A2 B ©-3 O3



R I2FERY- P A e ERTRY HE

_ B FLR¥:_ Bt #H4-1-4-2~4-3~5-1
23. () aEHERC—4=01f% > Ha>0; 28. () M@ AE DA 5 =SAHE B sy
b Z 2 25x2=16 {Yf# » H b<0- Hla+b BoE B B4 150~155 /N 53iE—407A 3
=9 A0 Rl&PtEE %0 A 2
2 1 1 2
A% B-1 O= D= Har
a0l
- iof
24, () FE2RE—TEHTER x(x—K) =6 fy— — gl
> Sk (B 2 {?
(A)l (B)2 (C)3 (D)—1 150 155 160 165 170 175

15 (A7)
(A)24 (B)25 (C)30 (D)36
25. C ) MYEEFIEFEEARER BRI EC T

SR SO S RN 2
WEL SR BRI 0. () B EBSRIE R 24 55

0 RIS RS TN 3 155 4 257 HIH=
o AR Ry % /D SP50 53 2
0N 30 (A)300 (B)250 (C)175 (D)84
<~ 20
f% 30, () WIBRT - ZWPHIRRE B
30 35 40 45 50 55 60 65 PrawlE - sE NI s NBHZEZ /D A ?
BeE (A T) 2 2 — ¥ - 25T
(A)35~40 AT (B)40~45 /AT % 3 30
(C)45~50 24T (D)50~55 /AT B 32
N
~ 10
26. () TFEEANEL T E#E T2 3%+ 5x e ek
—1=0 ABER - SR BRI A8 4050/60°70 80 90 100
o B (4)

(A4 (B)S (C)6 (D)7

31, () ZEEEHYAEHS > H o8 H EIRIRLR

5 1
(AER— © X +3x=3

5 5 1 5
BYFEE " X +3x+(3)=5+H(3) 31 H F43F 78 HEAFLE 43 - HI R
_ 5., 28 RO TEHE 2
CPFEi= (x+3) =9 (A)SEEATE 5 H4H
5 28 (B)tEHfiz 21 HAH
<mﬁﬁmiﬁkai¥; (CIEEHEIZ 4 A4H

(D);EERIE 18 HAH

27. () fHE  THIRIR 160~170 /A 535460 3. () FEBZE T HEE S0 BRI
Sl TEREHTH 2608 2 BEA el > SRS E 160 A3 TAZ%/D
BE(A5r) | HEZRE(%) | R ERE(%) A?
160~170 15 63 E% 45
(1) 5 25561 15% B3
(4R 10 235 5
(3)14 63 A 20
(4) 5 4= B3 63% <R
(AL{E (B)2{H (C)3{H (D)41H oL, A
135140145150155160165170

S (A7)
(A)34 (B)24 (C)14 (D)4



R I2FERY- P A e ERTRY HE

_ & TR gt W 4142543551
() IERFTR A K #ENZE A ER AR SS 37. () )RR 2@ +5x—9=0 Al x=?

33.

34.

35.

36.

(

(

(

HY EREA S T BT 408 - S 0ERR R Ry
S5 170 23 P E - RIWEEA SRV E L Fy
2%/ ?
£ 100
sl 80
¥ 60
gy 40
9 20

1 1 1

oL :
140 150 160 170 180 190
Fim (851)

(A)45% (B)50% (C)65% (D)70%

) W (R B o = AR ER AR SR R AR HY

BRI RE T ECIT4RE > T HI—4HRY A8
w0 ?
g& 100
=80
£ &0
R 40

@ 0 Ll
30 40 50 60 70 80 90 100
fi&E (7))
(A)50~60 43  (B)60~70 43
(C)70~80 43 (D)90~100 4}

) FfEDE R T A =3 40 {r[FE2Re &

Y Z2 R S R B BCTARE] - 5 =T EA
w50 NTrEREZDAN?

030 35 40 45 50 55 60 65
BEE(AT)
(A)20 (B)30 (C)36 (D)40

) Bt Ry R DRI B AR T 4R ] - oK

A S A8 ANBLS =P ABEY H T A2
%77
&

ON P~

(1 1 1 1 1 1 1
40 50 60 70 80 90100
A& (7))

(A)12.8% (B)155% (C)16.5%  (D)14.5%

38.

39.

40.

(

(

(

—5+5\/3 _ —5+5\[4
7 B3

—51[79  —51/97
7 O3

(A)

(©)

HoR— Tt R -+ 6x—7=0 >
fi Bl 2
(A)—7 (B)—1 (C)fEfig (D)3+2

) U (E EAREAPRIE Ry 728 > KL

IR gD ?
(A)54 (B)56 (C)58 (D)60

) ANRAEBERMER T - AR

77 BRGZE 2 % > FTfS4S REEEE D
288 5 SKFE A IFHES 25 Ry fa] ?
(A)256 (B)289 (C)324 (D)361



